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QUESTION 1

Examine the following command:

ipadm create-addr -T static -a 192.168.1.112/26 net0/v6
Which two statements are true?

A. The interface is plumbed.

B. The interface is marked down.

C. The netmask value is ffffffcO.

D. The link local IPv6 address fe80::112 is created.

E. Multicast datagrams are not enabled on this interface.

Correct Answer: CD

QUESTION 2

The default route for the NCP static is changed with the following command sequence:

When does the entered route take effect?
A. after the set command
B. after the verify command

C. after the commit command
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D. after the exit command

E. after enabling the location user (command not shown)

Correct Answer: C

QUESTION 3

Consider the following ZFS configuration:

You have created snapshots of the homo directories which are as follows:

You have another storage pool named bpool on the same system. You use the following command to store the
snapshots in this pool:

# zfs send rpool/export/home@11.28.12 | zfs recv f bpool@11.28.12

What will be created in the pool bpool as a result of this operation?

A. bpool/export/home/ bpool/export/home/curly

B. bpool/export/home/ bpool/export/home/curly bpool/export/home@12.25.11
C. bpool/export/home/ bpool/export/home/curly bpool@12.25.11

D. bpool/curly bpool/curly@12.25.11

E. bpool/curly

F. bpool/curly bpool@12.25.11

Correct Answer: A

QUESTION 4

Which network component is the default target for IPMP probe-based Failure detection?
A. the default router

B. any nongateway system on the same subnet

C. any group interface with a test address
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D. the first responder to the in.mpathd broadcast request

Correct Answer: A

QUESTION 5

You have a server that has two zones configured. These zones use the pool named pool_zones. Examine the following
configuration information:

The system has four CPUs. Assume that both zones are under heavy load. Examine the following partial output:

Which option describes the values you would expect to see for the CPU field for the zones?
A. approximately 40% for z1 and approximately 60% for z2
B. approximately 60% for z1 and approximately 40% for z2
C. approximately 20% for z1 and approximately 30% for z2

D. approximately 30% for z1 and approximately 20% for z2
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E. approximately 25% for z1 and approximately 25% for z2

Correct Answer: A

QUESTION 6

Which vmstat field output indicates the effort the system is making to find memory for future processes?
A.re

B. sr

C. free

D. fr

Correct Answer: A

QUESTION 7

You created a virtual network of three zones.

One network hosts a web server.

Another hosts an application server used by the web server.
The third zone host a video streaming application.

You already configured a flow to prioritize the video traffic over the web server traffic. You now need to continuously
monitor the flow.

Which tool must you use to gather the flow data?
A. the system activity reporter (SAR)

B. extended accounting

C. the flowstat command

D. the kstat utility

Correct Answer: A

QUESTION 8

Which sequence of commands will create a virtual network interface?
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A. Option A

B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 9

You have assigned rights profiles directly to the uses frank and now you want to add another profile. Which command
enables you to list profiles directly assigned to frank?

A. userattr profiles frank
B. profiles p frank

C. useratter p frank

D. profiles frank

Correct Answer: B

QUESTION 10

You administer an Oracle Solaris 11 server. You created an IPS repository and set the pkg publisher origin. You did not
configure the pkg/service service. What type of access have you provided for your now repository?

A. afile interface repository
B. a local host-only repository

C. a testing-interface repository
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D. a pkg.depotd configured interface

Correct Answer: B

QUESTION 11

Your organization uses NFS to share data from Oracle Solaris servers to Oracle Solaris clients. For the nfsmapid
daemon to work properly the client and server must be on the same domain. Select the location that has the highest
precedence when the nfsmapid daemon searches for a domain name.

A. the nfsmapid_domain parameter in the mapid SMF service.

B. the nfsmapid_domain parameter in the /etc/default/nfs file

C. the domain name in the /etc/default/domainname file, if it exists.

D. a_nfsvdidmapdomain TXT record found by the configured domain name servers

Correct Answer: C

QUESTION 12

You must configure your server to use IPMP with probe based failure detection enabled. Which statement is a valid
constraint or feature that applies to this requirement?

A. Link-based detection is supported only on Genetic Land Driver version 2 (GLDv2)-complaint NICs.
B. GLDv2 NICs are not supported in Oracle Solaris 11.

C. GLDv3 NICs configured for link based detection by default.

D. You must first disable link based detection before configuring probe-based failure detection.

Correct Answer: D

QUESTION 13

Which two statements describe the capabilities of the Distribution Constructor?

A. I1SO images for use with the Automated Installer (Al) can be created.

B. Bootable USB images can be created for SPARC and x86 architectures.

C. A single installation server can be used to create ISO imager, for SPARC and x86 architectures.

D. Checkpoints are used to pause the build, thereby allowing the running of a script to modify the resulting ISO image.
E. A single installation server can be used to create ISO images for Solaris 10 and Solaris 11.0 operating systems.

Correct Answer: BE
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QUESTION 14

You need to make a permanent modification to a machine\\'s naming service. You need to change naming service from
files to LDAP. Which two alternative methods would accomplish this task?

A. Modify the existing /etc/nsswitch.conf file and execute: # nscfg import -?name-service/switch

B. Modify the existing /etc/nsswitch-conf file and execute: # netcfg import name-service/switch # svcadm refresh name-
service/switch

C. Modify the existing /etc/nsswitch.conf file and execute: # svcadm restart milestone/self-assembly
D. Use the netcfg command to modify the location profile for the DefaultFixad network configuration profile.

E. Use the svccfg command to set config/* properties in the name-service/switch service: # svcadm refresh name-
service/switch # svcadm restart name-service/switch

Correct Answer: BE

QUESTION 15

While examining an Oracle Solaris 11 system, you discover an unfamiliar ELF binary in the /usr/bin directory. You want
to know which package installed the binary. Which pkg subcommand should you use to identify the package, based on
the absolute path to the binary?

A. pkg info

B. pkg list

C. pkg search

D. pkg contents

Correct Answer: D

Latest 170-822 Dumps 170-822 Study Guide 170-822 Braindumps

Latest 120-822 Dumps | 120-822 Study Guide | 120-822 Braindumps 8/8


https://www.certbus.com/1z0-822.html
https://www.certbus.com/1z0-822.html
https://www.certbus.com/1z0-822.html
http://www.tcpdf.org
https://www.certbus.com/1z0-822.html
https://www.certbus.com/1z0-822.html
https://www.certbus.com/1z0-822.html

